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403 TtXI S SA=01A 120,000 120,000 0

01 HXSHH =R 120,000 120,000 0
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HE2HEF LA 200,000 200,000 0
403 XX SHHS K20 & 200,000 200,000 0
01 XIS AZ2E X 200,000 200,000 0]
HoimEasens 200,000
HE2HUHRXIQIXA 200,000 160,000 40,000
308 MXISHHMSOIA 200,000 160,000 40,000
01 AXHHIMNEXS 200,000 160,000 40,000
OH==2&AHRAXRRANAHH XA 100,000
OH==2&0HRAXQRAAY A 100,000
BAZ2CHHEBI XA S O = 50,000 30,000 20,000
308 XX EHSOIA 50,000 30,000 20,000
01 AIKSHHEMNEX= 50,000 30,000 20,000
OJAAZ2 ol B XIAHHCHE OH = 50,000
US 2SR MY I HeAgE2eE 2 90,000 90,000 0
308 XNXIGHHSO0lI& 90,000 90,000 0
05 AXISHHZ2ES 2 90,000 90,000 0
UGS 252 MY I Hel g2 90,000
ol ==2&2A2 N8 AMEHE 300,000 300,000 0]
403 XX SRS K20 & 300,000 300,000 0
01 AXESHEE X 300,000 300,000 0
Oole==2& 22| HElAMEHE 300,000
HEHIIE+=HM AL 15,000 30,000 A 15,000
403 XX SHHS K20 & 15,000 30,000 A 15,000
01 AIXISHHM 22 X 15,000 30,000 A 15,000
OoHLHIIS2=HH el 15,000
Aot s XY 564,000 0 564,000
= 500,000
& 64,000
403 XX SHHS K20 & 564,000 0 564,000
= 500,000
& 64,000
01 XIS A=Z2E X 564,000 0 564,000
OHotSsS XY 564,000
= 500,000
= 64,000
NESHHZSEAEXANS 30,000 0 30,000
403 XX SRS K20 A 30,000 0 30,000
01 MXSHHE2E =X 30,000 0 30,000
Ole==38Z oI AIS 30,000
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HE=2X00EXRNERNESAFY 20,000 0 20,000
308 XX EHSOIA 20,000 0 20,000
01 AIKSHHEMNEX= 20,000 0 20,000
Ool==20|I0IH XN 22N ES ALY 20,000
HES2 YA SA XA 300,000 0 300,000
403 XX SRS K 20| & 300,000 0 300,000
01 XIS AZ2E X 300,000 0 300,000
OtHs==28SAIE R AT AIS 300,000
HAOHOIHI H & 22| =& A 24,000 24,500 A 500
201 et d| 11,000 11,000 0
01 AP 2t 2| bl 11,000 11,000 0
Ogst=2H| 11,000
OMIRAUS +UHES 8,000
OMBESEFRLUS 3,000
202 o4 | 8,000 8,500 A 500
01 2L HI 8,000 8,500 A 500
[JHOIO I H & 22l =& 0 Y 8,000
203 € R =& 5,000 5,000 0
03 AIEH =X 2 F X Y| 5,000 5,000 0
[JHOHEHIHRF&X 5,000
SoHQH O YOHE 6,363,000 8,985,000 N2,622,000
2 2,639,000
= 3,724,000
HYZZ AR Y L AEES 3,699,000 5,476,500 AN1,777,500
2 2,639,000
=} 1,060,000
HECFel & 8l AFH| X & 20,000 20,000 0
308 MXISHHMSOIA 20,000 20,000 0
01 IXHHNIMNEXS 20,000 20,000 0
CJHICH=2H(HICHSI Y ) D1 E & AFHI KT & 20,000
Soferdel22Z0/tal 20,000 20,000 0
308 XX SHHSOIH 20,000 20,000 0
01 AIXSHMENEXZ 20,000 20,000 0
OsofetEce| 223 20,000
HAOTAH| B2 A 200,000 500,000 A 300,000
403 XX SHHS K20 & 200,000 500,000 A 300,000
01 XS A2E X 200,000 500,000 A 300,000
JoHotEY B2 AISHI X & 200,000




2N
X ZH -
L= B
el

SAE]
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
QEBEXH 181,000 650,000 A 469,000
& 139,000
< 42,000
403 XSS A=0l& 181,000 650,000 A 469,000
& 139,000
& 42,000
01 AXISHHA=2E = 181,000 650,000 A 469,000
Oddexd 181,000
= 139,000
< 42,000
AAIHEZTESTH 650,000 650,000 0
= 500,000
= 150,000
403 A X EHS =0l A 650,000 650,000 0
= 500,000
) 150,000
01 AXSHMA=2EE 650,000 650,000 0
OAARHe ZEX A 650,000
& 500,000
=) 150,000
o2l 2,600,000 2,939,000 A 339,000
& 2,000,000
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403 MHXSHHSA=0l& 2,600,000 2,939,000 339,000
= 2,000,000
< 600,000
01 AR SHHA =22 = 2,600,000 2,939,000 A 339,000
Oofgd2ZeHixd 2,600,000
= 2,000,000
= 600,000
oHY2ZAJAMLLA LS 28,000 28,500 A 500
201 L4l 13,000 13,000 0
01 AFR2t2lHl 13,000 13,000 0
Oger==&H| 13,000
OMNRUACHELESE2YS 9,000
ONREEIUS 4,000
202 044l 10,000 10,500 A 500
01 SLHOIYI 10,000 10,500 A 500
OHSZBRANLUA L ST 04 Y] 0,000
203 YR =&l 5,000 5,000 0
03 AIMF=XH R =AH| 5,000 5,000 0
Dolgagdsgd2F 5,000
A=Y 2,664,000 3,508,500 A 844,500
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202 O 4l 12,000 13,500 A 1,500
01 ZLHOHI 12,000 13,500 A 1,500
Ooigadsd =804l 12,000
X oh e 2,867,000 1,000 2,866,000
= 2,360,000
S 507,000
CASENE 2,867,000 1,000 2,866,000
= 2,360,000
= 507,000
SNESHEAS 2,866,000 0 2,866,000
= 2,360,000
= 506,000
403 TtXI M S A =01 A 2,866,000 0 2,866,000
& 2,360,000
= 506,000
01 MRS =L xE 2,866,000 0 2,866,000
OZASENE A 2,866,000
= 2,360,000
S 506,000
S NIOHE AR =& Z I 1,000 1,000 0
202 Ol 1,000 1,000 0
01 SO HI 1,000 1,000 0
OCASEHEAMLFT0 Y 1,000
HY2HZH (SHAIHL D) 61,100 61,400 A 300
23l 61,100 61,400 A 300
Jl=23dHl 61,100 61,400 2300
201 2Bt2 | 37,000 39,800 22,800
01 At 22l bl 37,000 39,800 A2,800
Oget=2H| 28,000
OJlzAneEs7Y 10,000
OfLIMAREIMSF 9,800
OAREE7Y 8,200
O=el 9,000
OcedMA = Z S 9,000
202 o4l 24,100 21,600 2,500
01 SLHOHI 24,100 21,600 2,500
Do 2R FX 044l 24,100




